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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A-Type | B-Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 61547512596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018, Based on the
data 1n the table. answer the gquestions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Tvpe B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30.000 35.000 25000

Options:

61547549101, 1
61547549102, 2
61547549102 =2
£1547549104 4

Question Number : 2 Question Id : 61547512597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 2016?

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

£1547543105. 1
51547543106, 2
61547543107, 3
61547543108, 4

Question Number : 3 Question Id : 61547512598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 2 4
(3) 3 4 1
Options:

615475431091
61547543110, 2
E1547549111. 3
B1547543112. 4

Question Number : 4 Question Id : 61547512599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475431121
61547543114, 2
61547543115 3
61547543116 4

Question Number : 5 Question Id : 61547512600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

515475431171
61547549118, 2
61547543119, 3



B1547543120. 4

Question Id : 61547512595 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 61547512596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 2016 & 2017 T B 1T = FTEAT 6 IcAMEA | Tohad Fiqerm = 35 g3 7

1  10% 2) 5%
3) 20% 4) 25%
Options:

51547543101, 1
61547543102 2
61547543102, 3
E1547543104. 4

Question Number : 2 Question Id : 61547512597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T9 2014 | IeATEd A ST STEAT =1 BEAT 99 2016 § Ieqrted C ST ATEAT 6 TEAT 1 TR ufae ane

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%

Options:



£1547543105. 1
61547543106, 2
61547543107, 3
61547543108, 4

Question Number : 3 Question Id : 61547512598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= ~
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(1) 2 2) 4
(3) 3 4 1
Options:

515475431091
61547543110, 2
61547549111, 2
6154754311%2. 4

Question Number : 4 Question Id : 61547512599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o ™9 391 § =1 20 SeTed B TET STEA oAl ST T 349 o917

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475431121
61547543114, 2
E1547543115. 3
E1547543116. 4

Question Number : 5 Question Id : 61547512600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtaraa 3 ¥ 779 99 941 ToE % JTE1 6 Fe 3e7e 60000 977

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547543117, 1
615475491158, 2
E15475431143. 3
51547543120, 4



Sub-Section Number: 2
Sub-Section I1d: 615475544
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 61547512601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547549121,
E1547549122
BE1547549125
61547549124

o LI

Question Number : 6 Question Id : 61547512601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TF FEFd 70 GEe w1 90 T § 59 L 25% B 3210 2 | 30% HATH FAM F o0 234 T § TR
S s f_' 7

(1) 95 (2) 100
(3) 105 4 110
Options:

E1547549121. 1
B1547543122 2
61547543123 3
61547543124, 4

Question Number : 7 Question Id : 61547512602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) iy (2) TF:2
(3) 5:3 (1) bH:2
Options:

615475431251
E1547549126. 2
B1547543127. 3
B1547543128. 4

Question Number : 7 Question Id : 61547512602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
U foshd @1 60 9 Uid BRI, HR 78 ¥ uid a0, gom # = f @1 T Tee o e g |
e 2 it = 3= fagmn 1 76.80 ¥ it @ F ¥ HW 20% @Y AfAT W FH?

(1) 154 2y T:2
(3) 5z 1) 92
Options:

515475431251
61547543126, 2
61547543127, 3
61547549125, 4

Question Number : 8 Question Id : 61547512603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which given of the following sets of letters when sequentially placed at the zaps in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) acbbb
(3) cbhbhba (4) abbbe
Options:

E1547549129. 1
61547543120, 2
61547549121, 3
61547543132, 4

Question Number : 8 Question Id : 61547512603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frforfas 3 o e =1 58 =8 1 32 & 59 5= & 7 95w gaen 5 fEe sue W EEEER o e 9 9
bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4 abbbe
Options:

615475431291
61547543130, 2
E15475439121. 3
E1547543132. 4

Question Number : 9 Question Id : 61547512604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Qut of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61k (2) 69ke.
(3)  70ke. 4) Tlks.
Options:

615475491352 1
E1547549124. 2
E1547543135. 3
51547543136, 4

Question Number : 9 Question Id : 61547512604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammie= 8 & 9 faeniaen =1 sit|a a== 60 . 2 | 3tz 10 9 faenefi = o= =t 10 faentar= =
HEE F99 | O BT, wiaw 2, a1 109 Tl #1 =91 =

(1) 61 .. (2) 69 THm.
(3) 70 T . (4) T1tEm.
Options:

515475431331
61547543124, 2
615475439135 3
61547543136, 4

Question Number : 10 Question Id : 61547512605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

615475439137, 1
E1547543138. 2
51547543139, 3
61547543140, 4

Question Number : 10 Question Id : 61547512605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Tatafes ° 5 =19 o geae o =g (@@?Gﬁ)ﬁ:?
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(2) ] T § gET
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Options:

61547549137, 1
61547549138 2
61547549139 2
61547549140 4

Question Number : 11 Question Id : 61547512606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E15475439141. 1
61547543142 2
615475439143 3
61547543144, 4

Question Number : 11 Question Id : 61547512606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefaigs ¥ 8 9 =i w gH Ao wan d =, T @t R aiveatE Tee = F i W
foeram = 2

1 =™ (2) e
(3) & (4) wATTTE (T
Options:

E15475439141. 1
61547543142 2
61547543143 3
615475439144, 4

Question Number : 12 Question Id : 61547512607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547543145 1
E1547543914E. 2
E1547543147. 3
61547543148, 4

Question Number : 12 Question Id : 61547512607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTaigd ® 39 FIEd i U 590 9RG 39 0147 1 g 541

(1) T F= (2) Fg-FEA
(3)  HTSA FHA (4) oS =
Options:

61547543145 1
61547543146, 2
E1547543147. 3
51547543148, 4

Question Number : 13 Question Id : 61547512608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547549149, 1
61547549150 2
61547549151, 5
61547549152 4

Question Number : 13 Question Id : 61547512608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ffaied & 5 e 99z o 99 et (T SES) T F TeE B 7
(1) T, 99 J1 I9E

(2)  HEISS TgH, T AT T99

(3) T, | TIH 3R AY=aF

(4)  §, HHEISNS TH T =1

Options:

61547549149, 1
61547549150 2
£1547549151. =2
61547549152 4

Question Number : 14 Question Id : 61547512609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547543153. 1
51547543154, 2
51547543155 3
61547543156, 4

Question Number : 14 Question Id : 61547512609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wi H 919 2011 T Fhad TP S8H 3R 97 919 A¥IR0T 47

(1) I« 8 3 421 (2) =« 10 #R 75
(3)  FE 75 M 421 (4) @ 102 3R 515
Options:

61547543153 1
E15475439154. 2
£1547543155. 3
51547543156, 4



Question Number : 15 Question Id : 61547512610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1z =signified by Udsharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3) Conclusion proved

(4) Universal proposition along with an instance
Options:

61547543157, 1
61547543158, 2
E154754315%9. 3
51547543160, 4

Question Number : 15 Question Id : 61547512610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frfafEd & 9 FF-91 YRdE Teh I 5 SIAW o I8 (STIHTT) R Fehiaa & ¢

(1)  =FTTOT 1 HeA
(2)  Tfgerta = fog w0
(3) TRy mTfoE

(4)  IETEIVT % 1Y GrEYE qiqey
Options:
615475439157 1
E1547543158. 2
E1547543159 3
61547543160 4

Question Number : 16 Question Id : 61547512611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. in clazsical Indian School of Logic. 1= a case of ;

(1) Comparison (2) Implication
(3) Perception {4y Verbal Testimony
Options:

E1547543161. 1
E1547543162. 2
51547543163, 3
61547543164, 4

Question Number : 16 Question Id : 61547512611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-,
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(1)  qom (2) TfEard

(3)  TFUWON (4) ST =1°g
Options:
61547549161, 1
61547549162, 2
61547549163, 3
61547549164, 4

Question Number : 17 Question Id : 61547512612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition 1g false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

515475431651
61547543166, 2
61547543167, 3



E1547543168. 4

Question Number : 17 Question Id : 61547512612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FATHERE T A6 FUMAIE 6 FTER (g A’ Thaeg 99 2 a1 Heiangd 5 5 ®F T T8 & 7

(1)  “E’ ahamd TTerd &, I aohdamed T8l & 3R “0” Teharad 7o 2
(2)  “E’ ThamE w8 8, “T° ahared ¥El 2 3R “O” Thaed 98l 8

(3)  “E’ Thamd e 8, “T° TehaTE Ted 8 3TN “O” a9 T8l B
(4)  “E’ Thaed @El 8, “I7 ahaed Ted & AR “O” ThaEd Ted 8

Options:

51547549165, 1
61547549166 2
615475493167, 2
1547549168 4

Question Number : 18 Question Id : 61547512613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

51547543165 1
615475439170, 2
615475439171, 3
E1547543172. 4

Question Number : 18 Question Id : 61547512613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafas # & FR-1 ghama mft wfa e aa 2 # farta 2

(1)  F% FE =L BN &l (2) TS A EAEE AE A R |
(3) FE W Fig S0 95 BGT £ | (4) T Mt THEET F AE BT 2
Options:

61547543169 1
61547543170, 2
E15475439171. 3
B1547543172. 4

Question Number : 19 Question Id : 61547512614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?
(1) Questioning to check for the understanding of students

(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour

Options:

61547549173, 1
61547549174 2
61547543175 2
61547549176, 4

Question Number : 19 Question Id : 61547512614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TfoIrgd | 8 FH-91 I9TST 1016707 =7 51 981 & 7

(1) Sl H TR 6 F= F o q9T I8
(2)  BEI = AL IUHE FIH]

(3)  HiEE § = ST AIEE % g1 § A
(4)  BET F FTEER T TARATCHERA
Options:

515475431731
615475439174, 2
61547543175 3
E154754317E6. 4

Question Number : 20 Question Id : 61547512615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547549177, 1
61547549178 2



E1547543173. 3
61547543180, 4

Question Number : 20 Question Id : 61547512615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofeitad § O T |1 FF AT g '_4_:42145_ T TEHE EE 21 27

(1) =9 S A0 A=Al 9T S R 9T E 19 R
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Options:

61547549177, 1
61547549178 2
615475491793 2
61547549120 4

Question Number : 21 Question Id : 61547512616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547543181, 1
61547549182 2
E1547543183. 3
E1547543184. 4

Question Number : 21 Question Id : 61547512616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HTIREd § | WA 91 TOIcAs 9 F Taied T8l 8 ¢

(1)  T=RomcH TaTeao (2) =i AT
(3)  Wifaq fovemm (4) Hag fafy

Options:
51547549181, 1
61547549182 2

61547543183, 3



E1547543184. 4

Question Number : 22 Question Id : 61547512617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the i1ssue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

615475431851
61547543186, 2
E1547543187. 3
E1547543188. 4

Question Number : 22 Question Id : 61547512617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L -
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(1) =TT (2) ToF HEE
(3)  STHmEET (4) oIl
Options:

515475431851
61547543186, 2
615475439187, 3
61547549188, 4

Question Number : 23 Question Id : 61547512618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

£1547549159. 1
E15475431380. 2
E15475431391. 3
615475431382, 4

Question Number : 23 Question Id : 61547512618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ot

(1) ALY (2) &HATEA
(3)  omm (4) TR
Options:

615475431859, 1
61547543130, 2
61547543131, 3
E15475431392. 4

Question Number : 24 Question Id : 61547512619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(a) Socio — economic background of Teacher
(b) Teacher’s skill in pleasing the students
(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1)  (a), (c) and (d)
(2) (b), (¢) and (d)
(3)  (a), (b) and (c)
(4) (a), (b) and (d)

Options:

51547549193, 1
61547549194 2
61547549135 =2
61547549196, 4

Question Number : 24 Question Id : 61547512619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475431392, 1
E15475491354. 2
B1547543135. 3
51547543196, 4

Question Number : 25 Question Id : 61547512620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

w

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options:
51547549197, 1



E15475431958. 2
6154754315945 3
61547543200, 4

Question Number : 25 Question Id : 61547512620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) A (a), (c) IW (d) (4) =ad (a), (b) FR (d)
Options:

E15475431597. 1
E15475431958. 2
51547543199, 3
61547543200, 4

Question Number : 26 Question Id : 61547512621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

{h) E-governance 1s related to the implementation of ICT in the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) {a). (b). and (c)
(2) (b) and (c) only
(3) {(a) and (c) only

(4) (a) and (b) only
Options:
61547549201,
E1547549202.
B1547549203.
61547549204

[ N

Question Number : 26 Question Id : 61547512621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543201, 1
61547543202, 2



E1547543203. 3
51547543204, 4

Question Number : 27 Question Id : 61547512622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

{a) Software 1z loaded Intc secondarv storage from RAM and 13 then executed by

the CPU.

(b) A search engine 1= a software system that 1= designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547543205 1
61547543206, 2
61547543207, 3
61547549208, 4

Question Number : 27 Question Id : 61547512622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549205, 1
61547549206 2
E1547549207. 2
61547549208, 4

Question Number : 28 Question Id : 61547512623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he gells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)
Options:
61547549209, 1
61547549210 2
61547549211, 2
61547549212 4

Question Number : 28 Question Id : 61547512623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543209, 1
61547543210, 2
61547549211, 3
E1547549212. 4

Question Number : 29 Question Id : 61547512624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4)  (a), (b) and (c)

Options:
615475492131
61547549214 2



E1547543215. 3
51547543216, 4

Question Number : 29 Question Id : 61547512624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475432131
61547543214 2
61547549215 =
61547543216, 4

Question Number : 30 Question Id : 61547512625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some gzirls are not
students”

(a) Subject term students 1s distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 12 distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only () and (d) are correct
Options:
615475492171
E15475459218. 2
£1547549219 2
61547549220 4

Question Number : 30 Question Id : 61547512625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



| e e

TR ASTRAl e T8l & | ThAEd o HeY § HEeigd wYE W R i

(a) el I1eg Toendt faaia 2 |

(b) oo vez wefra f9afa =5 21

(c)  Taug vree forndf faafia 21

(d) Al vreg Wi faaia 75 B |

TfeIEa ® H8 faeeT g

(1)  Fd (a) AW (c) T& & (2) “Had (b) FR (c) HEl &
(3) S (a) IR (d) HE & (4) FIA (c) AN (d) T 2
Options:

B1547549217. 1
61547543218, 2
61547543219, 3
E1547543220. 4

Question Number : 31 Question Id : 61547512626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief 1n God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (e) only
(3} (¢) and (d) only

(4) (b) and (d) only

Options:

61547549221, 1
61547549222 2
61547549222 2
E1547549224 4

Question Number : 31 Question Id : 61547512626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549221, 1
61547549222 2
61547549222 5
61547549224 4

Question Number : 32 Question Id : 61547512627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

{a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn't occur in multi-stage cluster samphng

{c) Inaccurate samphng frame and non-response are examples of sampling — related
E1TOT,

(d) There 1z an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (¢) only
{(2) (a) and (d) only
{(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547549225 1
61547549226, 2
61547549227 3
E1547549228. 4

Question Number : 32 Question Id : 61547512627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549225, 1
61547549226 2
61547549227 2
61547549228, 4

Question Number : 33 Question Id : 61547512628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learning

Last I List II
Hiztoric places Discipline
(a) Takshila (1)  Astronomy
(b)y Ujjain (1) Buddhism
(c) Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (B)-(1). ()-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(1)
(4) (a)-(v). (b)-(1). (c)-(1). (d)-(1m1}
Options:

51547549229 1

51547549230, 2

61547543231, 3
61547543232, 4

Question Number : 33 Question Id : 61547512628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)-@), (b)-(1), (e)-(id), (d)-(iv)
(@)-(11), (b)-(), (0)-Gv), (d)-(i)
()-(iid), (b)-(iv), (0)-(i), (d)-(D)
(2)-(iv), (b)-(0), (e)-(1), (d)-(iiD)

61547543229 1
61547543230, 2
E1547549221. 3
B1547549232. 4
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Question Number : 34 Question Id : 61547512629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (11)
(¢) Gelisols (111)
(d) Anridsols (1v)

Choose the correct option from those given below -

(1) (a)-(iv), (b)-(1), (c)-(11), (d)-(111)
(2) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(ii1)
(4) (a)-(1), (b)-(11), (¢)-(av), (d)-(1i1)

Options:

61547549233, 1

61547543234 2

61547549235 2

61547549236 4

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soi1l order consisting of goils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 61547512629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(iv), (b)-(1), (c)-(11), (d)-(1i1)
(2) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(ii1)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
4) (a)-(1), (b)-(i1), (c)-(iv), (d)-(i11)

Options:

61547549253 1

615475492234 2

61547549235 3

E1547543226. 4

Question Number : 35 Question Id : 61547512630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List — I with List - IT

List I List I1
(Digital Initative) (Purpose)
(a) UMANG (1) G2B Services
(b) BHIM (1) Learning platform
(¢) eBiz (111) Unified payment interface
(d) SWAYAM (iv) Single point of access to all

governme nt services.

Choose the correct option :

(1) (a)-(1), (b)-Q). (c)-(i1), (d)-(v)
(2) (a)-(111), (b)-(), (¢)-(1v), (d)-()
(3) (a)-(v), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)



Options:

61547549237, 1
61547549238 2
£1547549229 2
61547549240, 4

Question Number : 35 Question Id : 61547512630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(iv)
(3) (2)-(), (b)-(11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (e)-(11), (d)-(111)

Options:

61547549237, 1

61547549238 2

61547549239, 3
61547543240, 4

Question Number : 36 Question Id : 61547512631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

(a)
(b)
(c)
(d)

Column T

Ontology
Epistemology
Methodolgy
Method

Choose the correct option :

(1)
2)
(3)
4)

Options:

(2)-(11), (b)-(iv), (c)-(111), (d)-@)
()-(11), (b)-(1), (¢)-(11), (d)-(1v)
(2)-(1v), (b)-(1), (c)-@), (d)-(11)
(a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

61547549241, 1
E1547549242. 2
E1547549243. 3
B1547543244. 4

(1)
(11)
(111)
(1)

Column II

Ideographic
Realism
Survey
Positivism

Question Number : 36 Question Id : 61547512631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)-(11), (b)-(v), (c)-(11), (d)-@)
(a)-(1), (b)-(1), (¢)-(111), (d)-Gv)
(a)-(iv), (b)-(1), (¢)-(@), (d)-(1i1)
(a)-(11), (b)-(av), (¢)-(1), (d)-(i11)
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E1547549243. 3
B1547543244. 4

Question Number : 37 Question Id : 61547512632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 15 beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects 1in receiver
Options:

61547543245 1
61547543248, 2
E1547549247. 3
E1547549248. 4

Question Number : 37 Question Id : 61547512632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543245 1
61547543246, 2
61547549247, 3
E1547549248. 4

Question Number : 38 Question Id : 61547512633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

(a)
(b)

(c)
(d)

Last I

Sacrifice

Sincerity

Self control

Altruism

@
(11)

(111)
(1v)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(D), (¢)-(v), (d)-(111)
(a)-(1v), (b)-(1), (e)-(i1), (d)-(i11)
(a)-(111), (b)-(1v), (¢)-(1), (d)-(11)
(a)-(1), (b)-(i1d), (¢)-(11), (d)-@v)

E1547549245. 1
51547543250, 2
61547543251, 3
61547543252, 4

Last II

Working in a stipulated time

Confinement of individual mind on

action
Showing love and affection

Helping without selfish motives

Question Number : 38 Question Id : 61547512633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (2)-@1), b)-G), (c)-(v), (d)-@ii)
(2) (a)-(iv), (b)-(i), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
@) (@)-Q), (b)-Gid), (0)-(d), (d)-(iv)

Options:

61547549249, 1
61547549250 2
61547549251 =2
E1547549252 4

Question Number : 39 Question Id : 61547512634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?
(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file
Options:
E15475459252 1
£1547549254 2
61547549255 3
51547549256 4

Question Number : 39 Question Id : 61547512634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

15475492551

15475459254 2

1547549255 =2

1547549256 4

Question Number : 40 Question Id : 61547512635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

61547543257, 1
E15475438258. 2
E1547543259. 3
B1547543260. 4

Question Number : 40 Question Id : 61547512635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =i, e, Wedl, S e
2 M, M, w9, "9
(3 e, T, 9w, e

(4 e, W, =reg, s,

Options:

61547549257,
61547549258,
51547549259,
£1547549260.

[ N

Question Number : 41 Question Id : 61547512636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547543261. 1
E1547543262. 2
61547543263, 3
61547543264, 4

Question Number : 41 Question Id : 61547512636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 IMNG-T& § Teqq FHd T 9 7 F GoIE] ST 2 ¢
(1)  wf=s=l, Arfecd hi TH1e, TR0, STFERo S, THE
(2)  TECT <hi THIET, WS, SAFENON 0, TRy, aiEeEt

(3)  THEHI, Wiiecd <hi FHIeT, SFFURON @M, T
(4)  HEEE, Hifecq hi FHiEn, SEYwn e, i

Options:

61547549261, 1
E15475492E82. 2
61547549262, 5
61547549264 4

Question Number : 42 Question Id : 61547512637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very
competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

51547543265, 1
61547543266, 2
61547543267, 3
E1547543268. 4

Question Number : 42 Question Id : 61547512637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547549285 1

15475492686 2

E1547543Z267. 3
E1547543268. 4

Question Number : 43 Question Id : 61547512638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R):

Assertion (A): A blog is a form of social media.

Reason (R) : A blog allows anyone to communicate to a public audience.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s falze, but (R) 1s true



Options:

61547549269, 1
61547549270 2
E1547549271. 2
61547549272, 4

Question Number : 43 Question Id : 61547512638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3R (A) - SANT HT9T HITSAT o1 T &9 2 |

TF (R) : AN = HIEIH § 1T =Fiaq A9 a1 & &7d T Tl ¢ |

3744 31 HYFl o ATA H Tel foeheT 1 79T FW

() (A) &R (R) A H& 8 31 (R) (A) i Ha1 = 2 |
2)  (A) SR (R) TEN T8 £ 3 (R) (A) T T8l =9 98 & |
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Options:

61547549269, 1
61547549270 2
61547549271, 2
61547549272 4

Question Number : 44 Question Id : 61547512639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get emploved, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1= false

(4) (A) 1s false, but (R) is true
Options:
61547549273 1
E15475459274. 2
61547549275 2
61547549276 4

Question Number : 44 Question Id : 61547512639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (A) a8, g (R) TE 2 |

Options:
61547549273 1

E1547549274. 2



E1547543275. 3
B1547543276. 4

Question Number : 45 Question Id : 61547512640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A):  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.
In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) 1s false, but (R) 1s true
Options:

E1547549277. 1

E15475459278. 2

B1547549279 2

61547549250 4

Question Number : 45 Question Id : 61547512640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A=l g W, (R) T # |

4) (A TeE R 7, (R)HE R
Options:
61547549277, 1
61547549278 2
61547549279 2
E1547549280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475545
Question Shuffling Allowed : Yes

Question Id : 61547512641 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation i1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antizlobalizsation protests. The globahsation of knowledze deserves a
particularly high profile recognition. despite all the good things that can be mghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both in journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. zome who take an upbeat iew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 61547512642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to the passage, which one of the following is not a well defined concept?

(1) Multiculturalism
(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

61547549251, 1
61547549282, 2
61547549282 o
61547549254, 4

Question Number : 47 Question Id : 61547512643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547543285. 1
61547543286, 2
61547543287, 3
61547543288, 4

Question Number : 48 Question Id : 61547512644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547543259 1
61547543290 2
61547543291 2
61547543232 4

Question Number : 49 Question Id : 61547512645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475432393, 1
61547543234, 2
61547549235, 3
E15475432396. 4

Question Number : 50 Question Id : 61547512646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1) (a) and (b) only
(2)  (a)and (c) only
(3) (¢) and (b) only
@ (a). (b) and (0)

Options:

61547549297, 1
61547543298, 2
61547549299 2
61547549200 4

Question Id : 61547512641 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension

THf TEFIE V" ¥ A9 Haias g 955 § ° U © 9919 98 o E 9 9 T8 2 | 6
a1 W Afva sfafwanst £ omwa B dvdimm & Sate w@ T 7 fes § fava g antdw s smies
mﬂwﬁﬁn“&ﬁmaﬂnmmwm-hﬁwuum’:ﬁﬁ?ﬁmﬁwmmmmﬂmmm
3-|-"-"—“-h Jil"H_'I '-{"le"l ':-H{Cl’f‘ Dﬂﬂ"—“‘ T Iul‘h.f G‘HL;'lI ﬁill“-h ER'EITEH'IT ?':l'i:l'ﬂ H‘l’-f HA=RT HdiE e GII'“” 'T_SI-HT‘[
fava = Tl = TI. 99 © fava #1 F99e F Taas J=a ﬁl‘l T r R [ e Tl 2, FvarEm
F1 =AIF AR FE WiGaenE 7 Al 2 T 98 AIHERE 2| 56 3 i Hqerl = \gﬁrﬁ T
ATEVEFAT & A 1% dvdm Ed wee ® 309 o1 g e 2 | W F dvdiem § o4 a=si 9, T
‘I T % e % 90 W WE Rl o @RAT 2, b SEwn 96 I== T 5l Mo =i |

:1.5j!${']| Fi TERTAT ﬂﬁr&ﬁ 341'{ rﬂ. 5"‘|5| =0 1"3 _Jr‘_é EFIEI?"&IEF ﬁ.'I]‘;I F'-.i:!-: '.II[ lfmﬁq"m'l:lTﬁ =i 'g']ﬂ'rr % =g o

T W R | g S S 5 e SgE g U o 2 9 36 fave w6 uwes g $i o
=

o 7 |

Sub questions

Question Number : 46 Question Id : 61547512642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS o SATAR FARgd § § i URETYG STaRo T8 8 7

(1)  Fg-H&Hiaang (2) UEAH

(3)  IAvEEE (4) TIHEF TE

Options:

61547549281, 1
E1547549282. 2
61547549282, 5
615475492584, 4

Question Number : 47 Question Id : 61547512643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TES T HTEN g | W R AR w

(1) S 1 =T gee (2) dvdiF i =E S
(3)  dvdrmm-fd el o o sl (4)  waEE IE gl e
Options:

154754592851

C1547549256. 2

E1547543287. 3
61547543288, 4

Question Number : 48 Question Id : 61547512644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) TIEE IH T2 F1 T899 (2) TIHE TH TZgA F 6w
(3)  TTTETERI Sl U TR (4) Tovd =R = T T 1 TH TR
Options:

E1547543289. 1
61547543230, 2
615475439231, 3
E154754323%2. 4

Question Number : 49 Question Id : 61547512645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) T T O i A T SR AT (4) ST A ied geare H |



Options:

61547549293, 1
61547549294 2
£1547549295 =2
61547549296, 4

Question Number : 50 Question Id : 61547512646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549297, 1
E1547549298. 2
61547549299, 5
61547549200 4

FART II Comparative Study of Religions

Section Id : 615475168

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475546



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547512647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The “Religion is the belief in spiritual beings™. The statement was made by

(1) Mircea Eliade (2) Wilhham James
(3) Rudolf, Otto (4) E.B. Tylor
Options:

51547543201, 1
61547543202, 2
61547543203, 3
61547543304, 4

Question Number : 51 Question Id : 61547512647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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e
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Options:

61547549201, 1
61547549202, 2
61547543203 =
615475492304, 4

Question Number : 52 Question Id : 61547512648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Name the two ‘Western Scholars’ among the following who associated religion with ‘Divine
Experience’

(1) Aurobindo — Tagore

(2) Emile Durkheim — Karl Marx

(3) Rudolf Otto — Joachim Wach

(4) E.B. Tylor — James Frazer

Options:
61547549205, 1



E1547543206. 2
61547543207, 3
51547543208, 4

Question Number : 52 Question Id : 61547512648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547549205, 1
61547543306, 2
615475492307, 2
61547549208, 4

Question Number : 53 Question Id : 61547512649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The meaning of English word ‘Religion’ 1s

(1) To re-unite (2) Belief in God
(3) Adhere to (4) Truth
Optioh;s:

61547543309, 1
E1547548210. 2
E1547543211. 3
61547543212, 4

Question Number : 53 Question Id : 61547512649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ST 9T % ‘Religion’ (¥19) 31 o1 7791 319 27
(1) = siEE (2) e H fauw

(3) SROT HIAT (4) T=mE

Options:

51547549209, 1
61547549310 2
61547549311, =
61547549212 4

Question Number : 54 Question Id : 61547512650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following 1s considered to be the proponent of ‘Psychological Theory in

‘Religion’

(1) Carl Jung (2) Sigmund Freud
(3) Guattari (4) Deleuze
Options:

615475432131
61547543214, 2
61547543215 3
E1547543216. 4

Question Number : 54 Question Id : 61547512650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549213, 1
61547549214 2
61547543315 =
61547549316 4



Question Number : 55 Question Id : 61547512651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The word ‘Magikos’ 1s related to which one of the following languages?

(1) Persian (2) English
(3) Latin (4) Greek
Options:

E1547543217. 1
E1547543218. 2
61547543215, 3
61547543220, 4

Question Number : 55 Question Id : 61547512651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“FSiTeRrE TohE 99T | HEi9d 758 B 7

(1)  SEEl (2) IS
(3)  @ATaEI (4) FAT

Options:

51547549217, 1
61547549318, 2
61547549319 2
615475439220 4

Question Number : 56 Question Id : 61547512652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The “Navroz” 1s assoclated with

(1) Islam (2) Hinduism
(3) Parasi (4) Jainism
Options:

E1547543221. 1



B15475432322. 2
615475432323, 3
615475432324, 4

Question Number : 56 Question Id : 61547512652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FaTe | FEteE B
& (2) feg e
(3) iexsii (4) =9 oH

Options:

61547549321, 1
61547549322 2
E1547549222 2
61547549224 4

Question Number : 57 Question Id : 61547512653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Deilsm’ means :

(1) The belief in a deity/worship of a god (2) Polytheism

(3) Henotheism (4) Naturalism

Options:

61547549325 1
61547549326 2
61547549227, 5
61547549228, 4

Question Number : 57 Question Id : 61547512653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549325 1
61547549326 2
61547549327, 2
E1547549228. 4

Question Number : 58 Question Id : 61547512654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The god ‘Apollo” belongs to which one of the following civilizations :

(1) Indus Valley (2) Greek
(3) Roman (4) Egyptian
Options:

5154754322591
61547543320, 2
615475433351, 3
E15475438232. 4

Question Number : 58 Question Id : 61547512654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549329, 1
61547549220 2
£1547549221. 2
61547549222 4



Question Number : 59 Question Id : 61547512655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT included in ‘Navadha Bhakt1'?

(1) Shravana (2) Manana
(3) Smarana (4) Dasya
Options:

6154754395352, 1
E15475439224. 2
E1547543235. 3
61547543236, 4

Question Number : 59 Question Id : 61547512655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feforfaa § 9 o wie § foreerr ugor 781 gar?
(1) CER (2) #4

(3) THLOT (4) <T&=F

Options:
£1547543335

E1547543224.
E1547543235.
5154754323356,

[ N

Question Number : 60 Question Id : 61547512656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name the Veda for which the ‘Aaranyaka’ 1s NOT available :

(1) Atharvaveda (2) Samaveda
(3) Yajurveda (4) Rigaveda

Options:



E1547543237. 1
61547543228, 2
61547543239, 3
61547543240, 4

Question Number : 60 Question Id : 61547512656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

>, _ re =
o9 3¢ T SIS T8 TqerdT ¢

(1)  sA¥ygag (2) dmag
(3)  FYAR (4) =Eg
Options:

51547543237, 1
61547543328, 2
61547543339, 3
E1547543240. 4

Question Number : 61 Question Id : 61547512657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following has NOT been reckoned as Mahapuranas :

(1) Agni Purana (2) Vayu Purana
(3) Matsya Purana (4) Kalki Purana
Options:

£1547543341. 1
61547549342 2
E15475439243. 3
51547543244, 4

Question Number : 61 Question Id : 61547512657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frertorfaa § & foraehl o wgrgoen | & gl ¢

™

(1) LIRSl (2) TEggue
(3) e 9T (4) Ffew T

Options:

51547549341, 1
E1547549242 2
61547549242 5
61547549244 4

Question Number : 62 Question Id : 61547512658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The correct order of three divisions of the Tantra Shastra 1s :

(1) Nigama, Aagama, Yamala
(2) Aagama, Yamala, Mukhya Tantra
(3) Yamala, Mukhya Tantra, Nigama

(4) Nigama, Aagama, Mukhya Tantra

Options:

61547549245, 1
61547549346, 2
61547549347 2
61547549345 4

Question Number : 62 Question Id : 61547512658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



)

q=1 IS o= 9T ° e 2| efoiaa § ¥ 3t ST g

- -
(1) MTH, 3WHE, IEA
(2) HANH, IHA, JEId
(3)  ImA, gEIa, FH
(4) T, AT, EIa
Options:

E15475439245. 1
61547543246, 2
61547543247, 3
615475433458, 4

Question Number : 63 Question Id : 61547512659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jainism the other name for “Syadvada Theory” is :

(1) Shadabhanginava (2) Shaptabhanginaza
(3) Aarambhavada (4) Parinaamvada
Options:

E154754392459. 1
51547543250, 2
51547543251, 3
61547543352 4

Question Number : 63 Question Id : 61547512659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SH U o AR TEATEl g R gHT M B -

(1) qEHTT (2) HaTg
(3) AREATS (4) TOTHEATR
Options:

E154754392459. 1



51547543250, 2
61547543251, 3
615475432352, 4

Question Number : 64 Question Id : 61547512660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following 1s NOT a “Teerthankara” according to Jainism?

(1) Abhinandana (2) Sheetalanatha
(3) Vimalanatha (4) Somanatha
Options:

61547543552, 1
E154754385354. 2
B1547543255. 3
615475432356, 4

Question Number : 64 Question Id : 61547512660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ed § ¥ ®F 59 99 % STTER TG T8 27

(1) A=A (2) Sfaey
(3)  Towey (4) HEAY

Options:

61547549353 1
£1547549254 2
61547549255 5
61547549356 4

Question Number : 65 Question Id : 61547512661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s NOT counted among the holy pilgrim place of Jainism?

(1) Haridwar (2) Kailash Mountain
(3) Varanasi (4) Avyodhya
Options:

E15475432357. 1
51547543258, 2



E1547543259. 3
61547543260, 4

Question Number : 65 Question Id : 61547512661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SH e o Tfos g TS B Feiaiaa 3 ® ! oM 98T g 2 7

(1) Egr (2) e
(3)  STeTHE (4) aTFTET

Options:
E154754592357. 1

E1547543258. 2
51547543259, 3
61547543260, 4

Question Number : 66 Question Id : 61547512662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The place where the most of the Teerthankaras attained Moksha (Liberation) is :

(1) Girinaar (2) Shri Sammeda Shikhara Ji
(3) Varanasi (4) Khajuraho
Options:

51547543261, 1
61547543362, 2
61547543562, 3
E1547543564. 4

Question Number : 66 Question Id : 61547512662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Taitees didgd 5 7 Tum 7 met area foear an?

(1)  FIRER (2) it TEng fame S
(3) s (4) T
Options:

E1547543281. 1



E15475435362. 2
61547543263, 3
61547543264, 4

Question Number : 67 Question Id : 61547512663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Prince Siddhartha was born at

(1) Savatthi (Sravasti) (2) Kapilavatthu (Kapilavastu)
(3) Rajagaha (Rajagir today) (4) Lumbini
Options:

51547543265, 1
61547543366, 2
61547543367, 3
E1547543265. 4

Question Number : 67 Question Id : 61547512663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEFAT. AgTd 1 T g o

(1) racedt (2mersdt) (2) mﬁmqrg (mﬁmqeg}
(3) TR (ST ) (4) ffesH
Options:

61547543565, 1
E1547543566. 2
E1547543267. 3
51547543268, 4

Question Number : 68 Question Id : 61547512664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The Buddhist sect which accepts pali Tipitake as its scripture 1s

(1) Therarada (2) Mahasanghika
(3) Locuttaravada (4) Vynanavada
Options:

61547543369, 1
61547543370, 2
E15475482371. 3
B15475432372. 4

Question Number : 68 Question Id : 61547512664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- S

T g FEIEE S U1 [qf92eh Rl 3701 90 Y JHT 8

1)  mEm (2) HEWEIEF
(3)  wAIeaaTs (4) TammaET

Options:
61547549569, 1

E1547543270. 2
51547543271, 3
615475432372 4

Question Number : 69 Question Id : 61547512665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The first split in Buddhism occurred in the form of the formation of two sects known as

(1) Locuttaravada — Vepullavada (2) Theravada — Mahasanighika
(3) Vaibhasika — Sautrantika (4) Sunyavada — Vijnanavada
Options:

615475433731
61547543374, 2
E15475482375. 3
B15475432376. 4



Question Number : 69 Question Id : 61547512665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g o= T vm favg g9 W S @ wEmEmEt o e ge, 3 59 A ¥ W o 2

(1)  TFcaans - JYeears (2) 9TEG - HEEIEE

(3) AWk - HrTT=AH (4) AR - famHag

Options:

£1547549373. 1
61547549274 2
61547549275 5
61547543376 4

Question Number : 70 Question Id : 61547512666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The foundation stone of the Sanchi stapa was laid by

(1) King Ajatasattu (Ajatastru) (2) King Pasenadi (Prasenajit)
(3) King Asoka (Asoka) (4) King Menandera (Milinda)
Options:

61547543377, 1
61547543375, 2
E1547543279. 3
E1547543280. 4

Question Number : 70 Question Id : 61547512666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

== % TqT A e TR gRT R T an Y

(1) T STTaEeg (STSTaeT) (2) T TEEE (TEATeE)
(3) TSN YOI (STME) (4) T B (fafe)
Options:

B1547543277. 1
61547543278, 2
61547543379, 3
61547543380, 4



Question Number : 71 Question Id : 61547512667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Jehovah, the Covenant and the Torah are the three main pillars of :

(1) Hinduism (2) Islam
(3) Judaism (4) Sikhism
Options:

E1547543281. 1
61547543282, 2
61547543283, 3
61547543354, 4

Question Number : 71 Question Id : 61547512667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=

(1) Togaa (2) T=W
(3)  ==@l (4) foog =

Options:

615475493581, 1
61547549282 2
E1547549282 =2
61547549284, 4

Question Number : 72 Question Id : 61547512668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Jewish sacred scripture is comprised of , Nabism and Ketubism.
(1) Gospels (2) Torah (Pentateuch)
(3) Midrash (4) Quran

Options:

51547543285, 1
61547543286, 2
61547543387, 3



E1547543288. 4

Question Number : 72 Question Id : 61547512668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tdt ufem spfyig & mfEfera TS ST ehegior |

(1) T (2) dNTE (UITEIF)
(3) T (4) T

Options:

51547549285, 1
61547549386, 2
61547549387, 2
61547549288 4

Question Number : 73 Question Id : 61547512669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ten Commandments of Jewish Belief system occurs in the book of :

(1) Exodus (2) Quran
(3) Ramayan (4) Zen Avesta
Options:

61547543359, 1
61547543330, 2
E1547543291. 3
E1547543292. 4

Question Number : 73 Question Id : 61547512669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) UFHISH (2) $UA
(3) THEE (4) ST STEE
Options:

51547543289, 1
61547543280, 2
6154754323391, 3
61547543332, 4

Question Number : 74 Question Id : 61547512670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Congregational Prayers are generally done in Jewish :

(1) Sanhedrins (2) Gabbatha
(3) Synagognes (4) Residences
Options:

61547549392, 1
E15475482354. 2
E1547543295. 3
515475432356, 4

Question Number : 74 Question Id : 61547512670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L
]
"

T4 79 § HEEF MY AEEE S A6

(1) === (2) Y
(3) e (4) TrEEd

Options:

61547549393, 1
61547549394 2
61547549295 =2



E15475432396. 4

Question Number : 75 Question Id : 61547512671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Easter Sunday 1s the day of :

(1) Assumption (2) Ascension
(3) Apparition (4) Resurrection
Options:

61547543257, 1
6154754933958, 2
61547543399, 3
E1547543400. 4

Question Number : 75 Question Id : 61547512671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Eg R
(1) AT (TSFH) (2) TERIED

(3) oA (4) YASIEA

Options:
E15475459297. 1

E15475432395. 2
51547543299, 3
51547543400, 4

Question Number : 76 Question Id : 61547512672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Greek translation of the Old Testament 1s commonly known as :

(1) Torah (law) (2) Nabusm (Prophets)

(3) Ketubism (Writings) (4) The Septuagint

Options:



E1547543401. 1
61547543402 2
51547543403, 3
61547543404, 4

Question Number : 76 Question Id : 61547512672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HATeg TREE F1 AT SAJAE FHEE: 36 T9 F = 067 2

(1) 4 (FFE) (2) ez (Tm)
(3)  FgEm (SrEA) (4) wgAE

Options:

61547549401, 1
61547549402 2
61547549402 5
61547549404, 4

Question Number : 77 Question Id : 61547512673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The basic Christian principle of religion or moral life in Christianity is :

(1) Belief 1n St. Joseph (2) Belief in Saints
(3) Belief 1n St. Mary (4) Imitation of Christ
Options:

61547543405, 1
61547543408, 2
E1547543407. 3
51547543408, 4

Question Number : 77 Question Id : 61547512673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=

9F T S TATE g YT ST 5a o STER Af0E e 2
(1) " 5Ew | favam (2) =&l # fawam
(3)  He =0 ¥ favam (4) =1 wHiE Fi T

Options:
61547543405 1

E1547543406, 2
E1547543407. 3
51547543408, 4

Question Number : 78 Question Id : 61547512674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The work “City of God” was authored by :

(1) Moses (2) St. Augustine
(3) Abraham (4) Adam
Options:

61547543409 1
61547543410, 2
E1547549411. 3
E154754341%2. 4

Question Number : 78 Question Id : 61547512674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt 1% e yEae e g ot TS

(1) A (2) HT HATTEEA
(3) SEIRL] (4) u=H
Options:

61547543409, 1
E1547543410. 2
E1547543411. 3
B154754341%. 4



Question Number : 79 Question Id : 61547512675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Abraha who attacked on Makkah before the birth of Prophet Mohammad belongs to :

(1) Yaman (2) Egypt
(3) Syria (4) Iran
Options:

E15475439413. 1
61547543414 2
61547543415 3
61547543416, 4

Question Number : 79 Question Id : 61547512675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T HIEEAS o S0 o 3 Hah1 9% SATHHET FaTe STHET T 2

(1) F99 2) fo=
(3) it (4) =
Options:

61547543412 1
61547543414 2
E1547548415 3
E1547543416. 4

Question Number : 80 Question Id : 61547512676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was third Caliph of Islam?

(1) Abu Bakr (2) Usman
(3) Al (4) Umar
Options:

E1547543417. 1



E1547543418. 2
61547543415 3
51547543420, 4

Question Number : 80 Question Id : 61547512676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=

ZTATH & I AR I

(1) S EEE? (2) 3SHH
(3) AT (4) 3IWE

Options:

51547549417, 1
61547549418 2
£1547549419 =2
61547549420, 4

Question Number : 81 Question Id : 61547512677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Imam Malik belongs to :

(1) Makkah (2) Madina
(3) Kufa (4) Yaman
Options:

615475434211
61547543422 2
E1547543423. 3
E1547543424. 4

Question Number : 81 Question Id : 61547512677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THTH HioTsh a9 2 :

(1) EEE (2) HaHl

(3)  FH (4) =87

Options:

51547549421, 1
61547549422 2
61547549423 =2
61547549424 4

Question Number : 82 Question Id : 61547512678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the founder of “Tablegi Movement™?

(1) Molana Ilyas (2) Molana Mohammad Ali
(3) Molana Qasim Nanootwi (4) Molana Hali
Options:

615475434251
61547543426, 2
E1547543427. 3
E15475434258. 4

Question Number : 82 Question Id : 61547512678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

b,

“TIART SATere= o TSITIF g 97

(1) o sforad (2) HIAHT e A

(3)  HIEAMT FIET T (4) HreA=T T

Options:



E15475439425. 1
61547543426, 2
61547543427, 3
61547543425, 4

Question Number : 83 Question Id : 61547512679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Baba Gurditta belongs to :

(1) Udasi sect (2) Nirmala sect
(3) Sewapanthi sect (4) Khalsa Panth
Options:

61547549429 1
E1547543420. 2
E1547543421. 3
51547543432, 4

Question Number : 83 Question Id : 61547512679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a7 e T B

(1) SETHET IR 2) o= ToeE
(3)  FEMA FUEE (4) @TeE 9
Options:

61547549429 1
E1547543420. 2
E1547543421. 3
51547543432, 4

Question Number : 84 Question Id : 61547512680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The text written in the praise of Guru Nanak by Srichand is:

(1) Janam-Sakhi (2) Gurbilas
(3) Sahansarnama (4) Vars
Options:

615475439432 1
E1547543424. 2
E1547543435. 3
51547543436, 4

Question Number : 84 Question Id : 61547512680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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a

e o TRET § o =g g ot TE T 2
1)  SH-FE (2) i

(3)  HEEREAT (4) @R

Options:

61547549433 1
61547549434 2
61547549435 =2
61547549426, 4

Question Number : 85 Question Id : 61547512681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sr1 Akal Takhat represents :

(1) Sikh Sovereignity (2) Sikh Rituals
(3) Sikh Conduct (4) Sikh Rites
Options:

51547543437, 1
61547543428, 2



E1547543439. 3
51547543440, 4

Question Number : 85 Question Id : 61547512681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S STRTEI—d%&d UTaTTeed AT B

(1)  To@ =uyga (2) To@ =TS
(3) e e iEay (4) TH@ TT=H
Options:

E1547543437. 1
E1547543438. 2
51547543439, 3
51547543440, 4

Question Number : 86 Question Id : 61547512682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Gatha’ Bani belongs to :

(1) Guru Nanak Dev J1 (2) Guru Arjun Dev J1
(3) Bhagat Kabir Ji1 (4) Bhagat Ravidas Ji
Options:

615475434411
61547543442 2
E1547543443. 3
E1547543444. 4

Question Number : 86 Question Id : 61547512682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘e’ STl FwEed B

(1) 7% 9% 53 S (2) T® IT9H 5T S
(3) TTd e A (4) w9 TEEE S

Options:
61547549441, 1



B1547543442 2
51547543443 3
51547543444, 4

Question Number : 87 Question Id : 61547512683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which two statements from the following are true about E.B. Tylor?

(a) The grandfather of British Anthropology
(b) A citizen of Germany

(c) Born in 17tk Century

(d) The author of “The Primitive Culture’
Select the correct option :

(1) (a) and (d)

(2) (c) and (a)

(3) (d) and (b)

(4) (b) and (d)

Options:

51547549445 1
61547549446 2
61547549447 =2
61547549445, 4

Question Number : 87 Question Id : 61547512683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Toafefer s s e s s ST F TR H aF 2 ¢
(a)  Tofes ama-fasme =1 fame
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61547549445 1
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61547549445 4
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Which two of the statements among the following are true about religion?

(a) The religion 1s based on logical experience alone
(b) The Good and Evil are not studied under religion
(c) The spiritual experience is a part of a religion

(d) The religion believes in divine power

Select the correct option :

(1) (a) and (b)

(2)  (b)and (d)

(3) (¢) and (d)

(4)  (a)and (d)

Options:

61547549449 1
61547549450 2
61547549451 =
E1547549452 4

Question Number : 88 Question Id : 61547512684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547549449,
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The two major arguments are given by Western scholars in favour of ‘Existence of God’ are :

(a) Causal Proof

(b) Teleological Proof

(c) Mythical Proof

(d) Anthropological Proof
Select the correct option :

(1) (a) and (b)

(2) (d) and (a)

(3) (c) and (d)

(4) (b) and (d)

Options:
61547549453 1

E1547543454. 2
51547543455, 3
51547543456, 4

Question Number : 89 Question Id : 61547512685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547549453, 1
61547549454 2
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61547549456 4
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Which two of the following books have been authored by Mircea Eliade?

(a) Patterns in Comparative Religion (b) The Golden Bough
(c) Das Capital (d) Myth and Reality
Select the correct option :
(1)  (a)and (c) (2) (b)and (d)
(3) (a) and (d) (4) (c)and (b)

Options:

E1547543457. 1
51547543458, 2
51547543455, 3
61547543480, 4

Question Number : 90 Question Id : 61547512686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a) 3 (c) (2) (b) 3 (d)

(3)  (a) ¥ (d) (4)  (c) #E (b)
Options:

61547543457, 1
E1547543458. 2
E1547543459. 3
61547543460, 4
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Two of the following pertain to Parasi religion :

(a) Gatha

(b) Dhammapada

(c) Sapainta Mainiyvu

(d) Dionysus

Select the correct option :

(1)  (a) and (b) (2) (b)and (d)
(3) (c) and (b) (4) (a)and (c)

Options:
61547549461,

E1547543462,
E1547543463.
B1547543464,

[ N

Question Number : 91 Question Id : 61547512687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547543461, 1
61547543462, 2
61547543463, 3
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Correct Marks: 2 WrongMarks: 0

Which two of the following are accepted as stages of development of religion?

(a) Polytheism

(b) Theory of Evolution
(c) Modernism

(d) Monotheism

Select the correct option :
(1) (a) and (c)

(2) (b) and (d)

(3) (c) and (a)

(4)  (a)and(d)

Options:

51547549465, 1
61547549466, 2
61547549467, o
61547549468, 4

Question Number : 92 Question Id : 61547512688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which two among the following are related to each other?

(a) Maharashi Dayanand Saraswati
(b) Puran
(c) Satyartha Prakasha

(d) Maharshi Patanjali
Select the correct option :
(1) (c) and (d)

(2) (b) and (c)

(3)  (a)and (¢)

(4) (b) and (d)

Options:
61547549489, 1

E1547543470. 2
61547543471, 3
61547543472, 4

Question Number : 93 Question Id : 61547512689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547549489, 1

E1547543470. 2
61547543471, 3
61547543472, 4
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Which among the following are inter-related?

(a) Rigaveda

(b) Agni

(c) Atharvaveda

(d) Vayvu

Select the correct option :

(1) (a) and (b) (2) (a)and (d)

(3) (c) and (d) (4) (a)and (¢)
Options:

E1547543473. 1
E1547543474. 2
61547543475 3
61547543476, 4

Question Number : 94 Question Id : 61547512690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547543473. 1
E1547543474. 2
61547543475 3
61547543476, 4
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Which two among the following are related to Vedic culture?

(a) Purushartha Chatushtya
(b) Bhogvada

(c) Avtarvada

(d) Yoga

Select the correct option :

(1) (a) and (c) (2) (a) and (d)

(3) (c) and (d) (4) (b) and (c)
Options:

B1547543477. 1
61547543478, 2
61547543475, 3
61547543450, 4

Question Number : 95 Question Id : 61547512691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wron(;g Marks: 0 X ‘ . X
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Options:

B1547543477. 1
61547543478, 2
615475434739 3
61547543450, 4
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According to Jainism which two among the following are related to each other :

(a) Siddhasena Diwakar
(b) Pravachanasara
(c) Teerthankara

(d) Muni Suvrata

Select the correct option :

(1) (¢) and (d) (2) (a)and ()
(3) (c) and (b) (4) (b) and (c)
Options:

E1547543481. 1
61547543482, 2
61547543453, 3
61547543454, 4

Question Number : 96 Question Id : 61547512692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547543451. 1
61547543482, 2
61547543453, 3
61547543454, 4
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According to Jainism which two among the following are related to each other :

(a) Moksha

(b) Sautrantika
(c) Yajnavalkya
(d) Samyaka Darshan

Select the correct option :

(1) (a) and (d) (2) (a) and (c)
(3) (b) and (d) (4) (c) and (d)
Options:

E1547543485. 1
E1547543486. 2
B1547543487. 3
515475434558, 4

Question Number : 97 Question Id : 61547512693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547543455, 1
61547543456, 2
61547543457, 3
E1547543488. 4

Question Number : 98 Question Id : 61547512694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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According to Jainism which two among the following are related to each other

(a) Shri Sammeda Shikhar Ji
(b) Chhattisgarh

(c) Girnar Parvata

(d) Giridih Jharkhand

Select the correct option :

(1) (a) and (c) (2) (c) and (d)
(3) (a) and (d) (4) (b) and (¢)
Options:

615475439459, 1
E1547543430. 2
E1547543431. 3
61547543452, 4

Question Number : 98 Question Id : 61547512694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547543489. 1
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The following are the sects of Buddhism which appeared in course of the history of Buddhism

(a) Lokottaravada
(b) Theravada

(c) Vepullavada
(d) Mahasanghika

[dentify the earliest two :

(1) (a) and (b) (2) (a) and (e¢)
(3) (b) and (c) (4) (b) and (d)
Options:

E1547543453. 1
E15475434354. 2
51547543455 3
515475434356, 4

Question Number : 99 Question Id : 61547512695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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The following Buddhist concepts are regarded as the important Buddhistic Abhidhammika
terms

(a) Metta (Maitri) (b) Sati (Smrt1)

(c) Karuna (d)y Samadhi

Select the two which falls in the category of the consituents of Athangika Magga (Eight fold
path) :

(1) (a) and (b) (2) (b) and (c¢)
(3) (b) and (d) (4) (c)and (d)
Options:

515475434571
615475434358, 2
61547543499, 3
E1547543500. 4

Question Number : 100 Question Id : 61547512696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E15475434597. 1
E15475434358. 2
61547543455 3
61547543500, 4
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A list of prominent lay disciples of the Buddha 1s given below which includes the names of
those two who happened to be the earliest ones. These are

(a) King Bimbisara
(b) Tapassu

(c) King Suddhodana
(d) Bhallika

Choose the correct option :

(1) (a) and (b) (2) (b)and (d)
(3) (c) and (d) (4) (d)and (a)
Options:

51547543501, 1
61547543502, 2
61547543503, 3
E1547543504. 4

Question Number : 101 Question Id : 61547512697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547543501. 1
61547543502, 2
51547543503, 3
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The major festivals of Judaism are :

(a) Festival of unleavened bread
(b) Christmas
(c) Holi

(d) Harvest Festival

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (a)and (d)

Options:

61547543505,
61547543506,
61547549507,
£1547549508.
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(1)  (a) 3 (b) (2) (b) 3 (c)
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Options:

51547543505, 1
61547543506, 2
61547543507, 3
61547543508, 4
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Correct Marks: 2 WrongMarks: 0

The important kings of Judaism are :

(a) David

(b) Isiah

(c) Jeremiah

(d) Saul

Choose the correct option :

(1) (a) and (d) (2) (b) and (¢)

(3) (c) and (d) (4) (a) and (b)
Options:

E1547543508. 1
E1547543510. 2
51547543511, 3
61547543517, 4

Question Number : 103 Question 1d : 61547512699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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The prophets of Judaism are :

(a) Isiah

(b) Jeroboam

(c) Elijah

(d) Rehoboam

Choose the correct option :
(1) (a) and (b)

(2)  (a)and(c)

(3)  (c)and (d)

(4) (a) and (d)

Options:

615475495131
61547549514 2
61547549515 =2
£1547549516. 4

Question Number : 104 Question Id : 61547512700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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515475495131
61547549514, 2
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615475439516 4
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Important Apostles of Christianity are :

(a) St. Clare

(b) St. Andrews

(c) Bastholomeo

(d) St-Joseph

Choose the correct option :
(1) (a) and (b)

(2) (b) and (c)

(3)  (c)and (d)

(4)  (a)and(d)

Options:
615475435171

E1547543518. 2
51547543519, 3
61547543520, 4

Question Number : 105 Question 1d : 61547512701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Out of the following identify the two who are the angels of Christian faith

(a) Daniel

(b) Michael

(c) Gabriel

(d) Ezekiel

Choose the correct option :
(1) (a) and (b)

(2) (b) and (c)

(3) (c) and (d)

(4) (a) and (d)

Options:

51547549521, 1
61547543522 2
61547549523 2
61547549524 4

Question Number : 106 Question Id : 61547512702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which two of the following are the Sacraments in Christianity?

(a) Dasserah

(b) Circumecision

(c) Baptism

(d) Confirmation
Choose the correct option :
(1) (a) and (b)

(2)  (b)and ()

(3) (c) and (d)

(4) (a) and (c)

Options:

61547549525, 1
61547549526 2
61547543527 2
615475439528 4

Question Number : 107 Question 1d : 61547512703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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61547549525, 1
61547549526 2
61547549527 2
E1547549528 4
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Shaikh Ajmed Sirhindi was :

(a) A Jurist of Mughal Period
(b) A Sufl of Mughal Period

(c) A Sufl of Chishty order

(d) A Sufil of Nagashbandi order
Choose the correct option :

(1) (a) and (c)

(2)  (b) and (d)

(3) (c) and (b)

(4) (c) and (d)

Options:
61547549529 1

E1547543530. 2
51547543521, 3
61547543532, 4

Question Number : 108 Question 1d : 61547512704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) T ST o TG

(b) qTel T o qI

(c) %ﬁﬁ:ﬁ%ﬁ%:ﬁﬁ

s S . S o

(d) TFTEE! A o TP

™

a) !
gl 3T JHd

(1)  (a) 31 (c)
2)  (b) 3T (d)
(3)  (c) HE (b)

4)  (c) ¥R (d)

Options:

61547549529,
61547549530,
61547549531,
61547549532,

o P

Question Number : 109 Question Id : 61547512705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prophet Mohammad visited :

(a) Yaman
(b) Madina

() Egypt

(d) Taif

Choose the correct option :
(1)  (a)and (c)

(2) (b) and (d)

(3) (c) and (d)

(4)  (a)and(d)

Options:

61547549533, 1
61547549524 2
61547549535 =
61547549536 4

Question Number : 109 Question 1d : 61547512705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS qErg | 9

(a) gHA
(b)  Ha

(c) e

(d T

(1)  (a) 3 (c)
(2) (b) 3 (d)
(3)  (c) 3 (d)

4)  (a) 3 ()

Options:

61547549533, 1
615475439534 2
615475439535 2
61547549526, 4

Question Number : 110 Question Id : 61547512706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Quran 1s a book of :

(a) Literature

(b) Revelation

(c) Philosophy

(d) Religious Law
Choose the correct answer :
(1)  (a)and (b)

(2) (c) and (d)

(3) (b) and (d)

(4) (d) and (a)

Options:

61547549537, 1
61547549538, 2
615475439539 2
61547543540 4

Question Number : 110 Question 1d : 61547512706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A TEaF 3

(a) =T
(b)y — TEEETEETA

() M

(d)  =THF F

(1) (a) 3T (b)
(2)  (c) M (d)
(3)  (b) 3T (d)

4)  (d) & (a)

Options:

61547549537,
61547549538,
£1547549539,
51547549540,

o IR

Question Number : 111 Question Id : 61547512707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The texts related with Bhai Mani Singh are :

(a)
(b)
(c)

(d)

Bhakat Ratanavali

Gurbiles Patshahi 10tk

(Gian Ratanavali

Rahitnama

Choose the correct option :

(1)

(3)

(4)

Options:

E1547543541.
51547543542,
51547543543,
61547543544,

Question Number

(a) and (d)
(b) and (c)
(a) and (c)

(b) and (d)

[ N Y

1 111 Question Id : 61547512707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



TS B & FaEia 506 ¢

(a) T TeqTae]

(b)  TEfSETE TraemE 10
(c) T TeATaE!

(d) AT

[T e = ™
Tzl Tahcd A9

(1) (a) 3T (d)
(2)  (b) 3T (c)
(3)  (a) 3 (c)

(4)  (b) FR (d)

Options:

61547549541,
61547549542,
61547549543,
61547549544,

[ N

Question Number : 112 Question Id : 61547512708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following two are NOT the sects of the Sikhs :

(a) Udasi

(b) Tera Panth

(c) Radha Swami

(d) Sewa Panth
Choose the correct option :
(1) (a) and (d)

(2) (a) and (c)

(3)  (b)and(d)

4)  (b) and (c)

Options:

51547549545 1
61547549546 2
£1547549547 =2
61547549548, 4

Question Number : 112 Question Id : 61547512708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ﬁm%%ﬁﬁﬁaﬁq—ﬁaﬁa@%ﬁ%mﬁ%?
(a) Ll

(b) a0 7Y

(c) T T

(d) HaT 97y

(3)  (b) 3R (d)
(4)  (b) 3 (c)

Options:

51547549545, 1
61547549546, 2
61547549547, 5
61547543548, 4

Question Number : 113 Question Id : 61547512709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



'Baramaah' Bani in Sri Guru Granth Sahib is in the Ragas of :

(a) Ramkali

(b) Tukhart

(c) Sorath

(d) Maajh

Choose the correct option :
(1) (a) and (b)

(2)  (b)and(d)

(3) (c) and (d)

(4) (a) and (c)

Options:
£1547543549 1

E1547543550. 2
E1547543551. 3
51547543552, 4

Question Number : 113 Question Id : 61547512709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i
-
.

ot 7F OY Afed H SRETE 9 39 W g 2

(b)y  TFET
(c) HiE
(d) AT

(1)  (a) 3 (b)
(2)  (b) 3 (d)
(3) (o) ¥ (d)
4)  (a) W (c)

Options:

61547549549, 1
615475439550 2
61547549551, 5
61547549552 4

Question Number : 114 Question Id : 61547512710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the list I with the list II :

List I List II
(a) The Making of Religion (1) Sigmund Freud
(b) The Origin and Growth of Religion (1) Joachim Wach

(c) The Comparative Study of Religions (111) Andrew Lang
(d) Totem and Taboos (1v) Wilhelm Schmidt

Choose the correct option :

(1) (a)-(111), (b)-(1v), (0)-(1). (d)-(@)
(2) (a)-(), (b)-(111), (¢)-(v), (d)-(11)
(3) (a)-v), (b)-(11), (¢)-(n), (d)-()
(4) (a)-(2), (b)-(), (¢)-(av), (d)-(111)

Options:

61547549553,
51547549554,
61547549555,
61547549556,

L N

Question Number : 114 Question 1d : 61547512710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TA-1 & F=-11 i gatod 1

-1 T -11
(a) 7 HfT 317 fefiom (i) Tomvs ®EE (Sigmund Freud)
(b) 7 AMNTH W WY ATH Feiom (iiy “isfem ok (Joachim Wach)
) < Fotfea TSt o fefto= (iii) Ush= & (Andrew Lang)
(d) 2w uvE I (iv) Taeem fevg (Wilhelm Schmidt)
fr=fatea § 5 = fowes gfu .

(1) (a)-(111), (b)-(1v), (¢)-(11), (d)-(2)
(2) (a)-(1), (b)-(11), (¢)-(1v), (d)-(1)
(3) (a)-(iv), (b)-(1), (c)-(111), (d)-(1)
(4) (a)-(@), (b)-(d), (c)-(v), (d)-(i11)

Options:

61547549553 1
61547549554 2
£1547549555 =
61547549556, 4

Question Number : 115 Question Id : 61547512711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the list I with the list II :

List I List II
(a) Anima (1) Ojibwe
(b) Magic (11) Polenisian
(c) Totem (111) Latin
(d) Taboo (1v) Greek

Choose the correct option :

(1) (a)-(111), (b)-(11), (¢)-(1), (d)-(Qv)
(2) (a)-(11), (b)-(1v), (¢)-(11), (d)-(1)
(3)  (a)-(i), (b)-(iv), (c)-(1), (d)-(i1)
(4)  (a)-Q), (b)-(ii), (c)-(iv), (d)-(ii1)

Options:

61547549557, 1
E1547549558 2
61547549559, 5
61547549560 4

Question Number : 115 Question Id : 61547512711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F1-1 5 F=-11 F1 gRfed
-1 T -11

(a) N (i)  ISieE
(b) AfS=® (i) AT
(c) TeH (i) e

@ = (iv) FATH

(1) (a)-Gi), (b)-(1), (¢)-(), (d)-1v)
(2)  (a)-(), (b)-(1v), (¢)-(11), (d)-(2)
(3) (a)-(111). (b)-Qv). (¢)-(1), (d)-(11)
4)  (a)-0), (b)-(1), (¢)-(v), (d)-(111)

Options:

61547549557 1
61547549558, 2
61547549559 5
61547549560 4

Question Number : 116 Question Id : 61547512712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Matech the list I with the List II :

List I List II
(a) Yoga Darshan (1) Gautam
(b) Nyaya Darshan (1) Kanaad
(c) Samkhya Darshan (111) Patanjali
(d) Vaisheshik Darshan (iv) Kapil

Select the correct option :

(1) (a)-(11), (b)-(1), (¢)-(av), (d)-(11)
(2) (a)-(11), (b)-(@), (0)-(111), (d)-(1v)
(3) (a)-(1), (b)-(111), (¢)-(av), (d)-(11)
(4) (a)-(1v), (b)-(1), (e)-(11), (d)-(111)

Options:

61547549561, 1
E15475495E62. 2
61547549562, 5
61547549564, 4

Question Number : 116 Question Id : 61547512712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 & F-11 1 FHTea

et -1 Tt -11
(a) Iz i)  ToH
(b) == TIF (i) G
(c) HTET TIH (i) TaSArA
(d) omifaw zE= (iv) e

! ™ ~
3Tld Td<he <hl <=4 “nlbat! o

(1) (a)-(111), (b)-(1), (¢)-(1v), (d)-(12)
(2) (a)-(11), (b)-(1), (¢)-(111), (d)-(1v)
(3) (a)-(), (b)-(11), (¢)-(1v), (d)-(11)
(4) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)

Options:

61547549561, 1
61547549562 2
£1547549562 =2
E1547549564 4

Question Number : 117 Question Id : 61547512713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List I with the List I1 :

List I List II
(a) Kundakunda (1) Tattvarthadhigamasutra
(b) Acharya Umaswati (11) Aptamimansa
(c) Acharya Samantbhadra (111) Panchasthikayasara
(d) Siddhasena Divakara (1v) Sanmati Tarkshastra

Choose the correct option :

(1) (a)-(), (b)-(iv), (¢)-(111), (d)-(i1)
(2) (a)-(av), (b)-(). (¢)-(1), (d)-(111)
(3) (a)-(111), (b)-(1), (¢)-(1), (d)-(1v)
(4) (a)-(11), (b)-(i11), (¢)-(1), (d)-av)

Options:
61547543565,

E1547543566,
E1547543567.
61547543568,

[ N

Question Number : 117 Question Id : 61547512713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TF=1-1 it FH-11 F =1 FHiT

-1 T -11
(@) F<I< (1) T T
(b) SATETE IATEAT (i)  sTeaEETE
(c) AT HTH=HG (ili) TR

(d) TogEa g (iv) HATd TR

= s [
3G Tahcd 1 T99 FII0 ;

(1) (a)-(1), (b)-(v), (0)-(111), (d)-(11)
(2) (a)-(v), (b)-(1), (0)-(11), (d)-(111)
(3) (a)-(11), (b)-(1), (¢)-(11), (d)-(v)
(4) (a)-(11), (b)-(m), (¢)-(1), (d)-(av)

Options:

51547549565, 1
61547549566, 2
61547543567, 2
£1547549568. 4

Question Number : 118 Question Id : 61547512714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following Arya Satya-s (Noble Truths) with their contents.

List I List IT
(a) Arya Satya One (1) Path to cessation of Dukkha
(Suffering)
(b) Arya Satya Two (11) Cessation of Dukkha
(¢) Arva Satya Three (11) Origin of Dukkha
(d) Arya Satya Four (iv) Existence of Dukkha

Choose the correct option for these as given below :

(1) (a)-(@v), (b)-(11), (¢)-(11), (d)-(1)
(2) (a)-(1), (b)-(11), (¢)-(1), (d)-(v)
(3) (a)-(D), (b)-(), (¢)-(i11), (d)-1v)
(4) (2)-(D), (b)-(11), (¢)-(iv), (d)-(iid)

Options:

61547549569, 1
615475439570 2
61547549571, 5
61547549572 4

Question Number : 118 Question Id : 61547512714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TetatEa sl =1 M 399 gy el 5 &1

e -1 FT-11
(a) TYH AFHS (i) 7@ W F An
(b) T T (i) 7@ e
(c) M SEEe (i) 7@ THA (3e)
(d) wgd AEEE (iv) 7@
= g7 ™ fawem & & 78 fawen o

(1) (a)-(1v), (b)-(111), (¢)-(11), (d)-(1)
(2) (a)-(111), (b)-(1), (c)-(), (d)-(1v)
(3) (a)-(11), (b)-(1), (c)-(i11), (d)-(1v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(111)

Options:

61547549569, 1
615475439570 2
61547549571 2
E1547549572 4

Question Number : 119 Question Id : 61547512715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the list I with the List IT :

List I List IT
(a) Patriarchs (1)  Israel
(b) Southern Kingdom (11) Mount Sinai
(c) Moses (111) Abraham, Isaac, Jacob
(d) Northern Kingdom (1v) Judah

Choose the correct option :

(1) (a)-(1v), (b)-(1), (¢)-(1), (d)-(ii1)
(2) (a)-(111), (b)-(iv), (¢)-(11), (d)-(1)
(3) (2)-(11), (b)-(1), (¢)-(ii1), (d)-(1v)
(4) (2)-), (b)-(11), (¢)-(111), (d)-(1v)

Options:

61547549573, 1
61547543574 2
615475439575 2
E1547549576. 4

Question Number : 119 Question Id : 61547512715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1 61 F=A-11 % =1y gafaa Hiw

-1 et -11
(a) igarh 1)  FEEE
(b) @ A ) e R
() 75T (iil) STSTEH, THTE, S
(d) A fRTEE (iv) T

(1) (a)-(v), (b)-(11), (¢)-(1), (d)-(111)
(2) (a)-(11i), (b)-(1v), (¢)-(11), (d)-(2)
(3) (a)-(11), (b)-(1), (e)-(i11), (d)-(1v)
(4) (a)-(1). (b)-(11), (¢)-(111), (d)-(1v)

Options:

615475495731
E1547549574 2
61547549575, 5
61547549576, 4

Question Number : 120 Question Id : 61547512716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the list I with the list I1:

List I List II
(a) Martin Luther (1) England
(b) Henry VIII (1) Vatican
(c) Pope (111) Summa Contra Gentiles
(d) St. Thomas Aquines (1v) Germany

Choose the coorect option :

(1) (a)-(iv), (b)-(1), (¢)-(11), (d)-(111)
2)  (2)-Q), (b)-), (c)-(11), (d)-1v)
(3)  (a)-(b), (b)-(iiD), (c)-(v), (d)-(1)
(4) (a)-(11), (b)-(1v), (e)-(1), (d)-(11)

Options:

61547549577 1
61547549578, 2
61547549579, 5
61547549580 4

Question Number : 120 Question Id : 61547512716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 it F-11 F = it Hif -

-1 g -11
(a) WIS T (i) zevE
(b) &I i) afeF=
(c) M (i) FFT Fieg ST
(d) ¥ 9mE TFREE (iv) S

TE ToeT T+

(1) (@)-av), (b)-(), (¢)-(11), (d)-(111)
2)  (a)-(), (b)-(11), (c)-(111), (d)-(v)
(3)  (@)-), (b)-(), (¢)-(v), (d)-(1)
4)  (a)-(u), (b)-(v), (¢)-(1), (d)-(1)

Options:

61547549577, 1
615475439578 2
61547549579, 5
61547549580 4

Question Number : 121 Question Id : 61547512717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match list I with the list 11 ;

List I List II
(a) Imam Ghazal (1) Muwatta
(b) Imam Malik (11) Fawaidul Fawaid
(¢) Al-Hujwairi (i1) Ahya Ul Uloom
(d) Hazrat Nizamuddin (iv) Kashful-Mahjoob

Choose the correct option :

(D (a)-@), (b)-av), (¢)-(11), (d)-(2)
(2)  (2)-@3i), (b)-(i1), (¢)-(1), (d)-(iv)
(3)  (a)-(v), (b)-(iid), (¢)-(), (d)-(D)
4)  (2)-G), (b)-@), (¢)-1v), (d)-a1)

Options:

61547549581, 1
61547549582 2
£1547549582 =2
£1547549584 4

Question Number : 121 Question Id : 61547512717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



it T -11
(a) A T (i) o
(b) M HieTE (i) wATIEE-%G
(c) FE-F=A (ii) eTEaTIT-I9H
(d) w9 FemEEE iv) FTHA-HE

~

[ ™y
TE Taed g

(1) (a)-(11), (b)-(v), (¢)-(111), (d)-(1)
(2) (a)-(11), (b)-(), (0)-(1), (d)-(v)
(3) (a)-(av), (b)-(111), (c)-(11), (d)-(1)
(4) (a)-(111), (b)-(1), (¢)-(1v), (d)-(11)

Options:

61547549581, 1
61547549582 2
£1547549582 =2
£1547549584 4

Question Number : 122 Question Id : 61547512718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List I with the List II :

List I List IT
(a) Sikhism for Modern Man (1)  Arvind Pal Singh Mandair
(b) Sikhism and Postmodern Thought (11) S. Kapur Singh

(c) Religion and the Specter of the West (111) Jasbir Singh Ahluwalia

(d) The Sovereignty of the Sikh Doctrine  (iv) Gurbhagat Singh

Choose the correct option :

(1) (a)-1), (b)-(1), (¢)-(av), (d)-(11)
(2)  (a)-Qv), (b)-(1), (0)-(11), (d)-(1)
(3)  (a)-), (b)-(v), (¢)-(), (d)-(11)
4 (a)-Q), (b)-(m), (¢)-(1), (d)-(1v)

Options:

51547549585, 1
61547543586, 2
61547549587, 2
1547549588 4

Question Number : 122 Question 1d : 61547512718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=1-1 =1 F=-11 % J19 AT R

-1 -1
(a) TofFEsy ®T A=A 39 () T g 92t
(b) THFEsA T TeATE 9k (i) Tw. FE e
(c) Ticfio Us g T0FeT AT § 9% (iii) =R fag smeemEnfeE
(d) 7 FE A% g T e (iv) T e
T foseT g
(1) (a)-(ii1), (b)-(1), (e)-(iv), (d)-(i1)
(2) (a)-(iv), (b)-(i1), (¢)-(1i1), (d)-(1)
(3) (a)-(11), (b)-(1v), (e)-(1), (d)-(111)
(4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:
15475449555 1
1547549586 2
E1547549557. 2
15475495858, 4

Question Number : 123 Question Id : 61547512719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s proper Chronological order of the following Philosophers :

Soren Kierkegaard, Nietzsche, Karl Jaspers, Sartre
Sartre, Nietzsche, Karl Jaspers, Soren Kierkegaard
Nietzsche, Karl Jaspers, Sartre, Soren Kierkegaard

Karl Jaspers, Sartre, Soren Kierkegaard Nietzsche



Options:

51547549589, 1
61547549590 2
£1547549591. =2
61547549592, 4

Question Number : 123 Question Id : 61547512719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

™ i T

AeTeATEd Tl &1 TE FTeATHe T 2 7

(1) A FIHTg, e, Fel SRS, Ha

(2) HTaT, Aie9l, e SIS, JRA he

. o (oY L b ot PR
(3) I3l <Rl SIEITS, |1dY, IR hlhR1g

(4) I IR, G, GRA hree, e

Options:

£1547549589. 1
£1547549590 2
61547549591, 5
61547549592 4

Question Number : 124 Question Id : 61547512720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The proper sequence of the following Samskaras 1s

(1) Annaprashana, Namkarana, Vedarambha, Upanayana
(2) Namkarana, Annaprashana, Upanayana, Vedarambha
(3) Vedarambha, Upanayana, Namkarana, Annaprashana

(4) Upanayvana, Namkarana, Annaprashana, Vedarambha.



Options:

51547549593, 1
61547549594 2
£1547549595 =2
61547549596, 4

Question Number : 124 Question Id : 61547512720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s T ks 5 £ =
AETAREd TERET 1 3MEd 9 8

(1)  3T=TuTeH, THE, AgEd, S0

(2) ATFIO], I, S99, dGRES

(3) AETEY, 3T, THHOT, ST=TITH

(4) 30T, ATHHOT, AU, dERFET

Options:

61547549593, 1
61547543594 2
615475439595 =2
61547549596, 4

Question Number : 125 Question Id : 61547512721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the proper sequence of the Kandas (Chapters) in the Ramayana :

(1) Avodhyakanda, Aranyakanda, Balakanda, Kishkindhakanda
(2) Balkanda, Kishkindhakanda, Aranyakanda, Ayodhyakanda
(3) Balkanda, Ayodhyakanda, Aranvakanda, Kishkindhakanda
(4) Balkanda, Aranvakanda, Kishkindhakanda, Ayodhyakanda

Options:

61547549597, 1
615475439598, 2
61547549599 =2
1547549200 4



Question Number : 125 Question Id : 61547512721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=

T % FHUE! (SASAET) 3T FH 2

=, [
1 FITEATHRIVS, ITTIFRIVS, FAFRIVS, THhRuvS
" 1 1

(2) T EIEWS, TRCRATHTS, IR, THEATHTS

(3) CISEIVES mtwg! SHUITFRIVE, ﬁhﬁéhrawug

(4) ATARIVS, STUIHVE, FhCreThs, TS

Options:

61547549597, 1
61547543598 2
61547549599 =2
1547549200 4

Question Number : 126 Question Id : 61547512722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Jain Philosophy the proper sequence of Syadwad theory is :

(1) Syadasatli cha nasti chavaktavyah, syvannasti chavaktavyah, syadasti, syvannasti,
syadasti cha nasticha, syadwaktayah, syadasti chavaktavyah.

(2) Syadastl chavaktavyah, syannasti chavakatavyah, syadasti cha nasti, chavaktyah,
syadvaktavyah, syvadesti cha nasti cha, syannasti, syadasti.

(3) Syadasti, syannastl, syadastl channasti-cha, syadvaktavyah, syadasti chavaktavyah,
syannasti chavaktavyah, syadesti cha nasti chavaktavyah.

(4) Syvadastl, syannasti, syadvaktavyah, syadastichavaktavyah, syadasti cha nasti cha,
syannastl chavaktavyah, syndasti cha nasti chavaktavyah.

Options:
61547549601, 1

E1547543602. 2
E1547543603. 3
51547543604, 4

Question Number : 126 Question Id : 61547512722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



S 2 % SR FgATE g F Staa 3 2

K

(1) TG = AT STadaed:, STEG STaaded:, SGied, STed, SeEd ° qiied =, Seaded:,
=refEa ATaaas:
(2) e =T, T Argaaed:, HhEed 9 e Taaass:, Tgadae:, SaEd o ared =1,

<Hdlllea, <Higied

(3) HTaEd, S, SR = A1Ed 9, Teadsd:, SRk JEFasd:, Sned Jadaded:, SeEEd
= A% =aFaeT:
(4) HTG%d, TH1Ed, Hgaded:, HeEd JEadaed:, JRis = 90Ed =, S=nEd Jadded:, TR

= qTfeq = TaFaea:

Options:

61547549601, 1
61547549602, 2
61547549603 =
61547549504, 4

Question Number : 127 Question Id : 61547512723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following groups of the Buddha's disciples is in chronological order as per

their entry in the Buddhist Sangha (Community of marks)

(1) Upali, Sariputta, Moggallana, Annakondanna. Yasa, Rahula
(2) Sariputta, Moggallana, Annakondanna, Yasa, Rahula, Upali
(3) Annakondanna, Yasa, Sariputta, Moggallana, Upali, Rahula

(4) Rahula, Yasa, Upali, Sariputta, Moggallana, Annakondanna.

Options:

61547549605, 1
61547549606, 2
E1547549807. 2
615475496038, 4

Question Number : 127 Question Id : 61547512723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



It TE F TAT T AEN T I F I F FE-A1 UF THE FIOHAHEE 2
(1)  3INA, BRGA, AeAH, SSTHvess, 99, U6
(2)  HRIE, ACEH, TSNS, I9, TE, I
(3)  FTSATHIVSIH, TW, MINH, AMeAM, I, TEH

(4) g, T, I, HIH, TR, FoHTES

Options:

61547549605, 1
61547549806, 2
E1547549807. 2
61547549608, 4

Question Number : 128 Question Id : 61547512724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifyv the correct chronological order of the following :

(1} Noah, Abraham, Isaac, Jacob.
(2) Abraham, Isaac, Jacob, Noah.
(3) Issac, Jacob, Noah, Abraham.
(4) Jacob, Noah, Isaac, Abraham

Options:

61547549609, 1
61547549610 2
1547549811, =2
1547549512 4

Question Number : 128 Question Id : 61547512724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=fEd F T8 FTIHE i TEEE e

(1) AT, IAFEH, THE, ST

(2) 3TFTEA, THTH, Shd, T3

(3) TETR, Shd, A1, IToTEH

(4) SieRel, IS, TETR, TFEY

Options:

61547549609 1
61547549610, 2
61547549611, 5
61547549612, 4

Question Number : 129 Question Id : 61547512725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct chronological sequence of the places where ecumenical councils were
held :

(1) Nicea, I** council of constantinople, Ephesus, Calcidon

(2) Calecidon, Ephesns, Ist Council of constantinople, Nicea

(3) I** council of constantinople, Ephesus, Calcidon, Nicea

(4) Ephesus, Calcedon, I** Council of constantinople, Nicea
Options:

61547543613 1
61547543614, 2
61547543615, 3
E1547549616. 4

Question Number : 129 Question Id : 61547512725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HEHH TG ST 8 aTel $4M1 6 H6l HIemghd & g

(1) T, FEg=gET i TEel UG, THEE, Fouis
(2) FITeH, SHHH, FEAqHAT hl Tae! THug, Jre

(3) T Sl T 919G, SHES, Shouie, e
‘:ﬁ Jﬂ: S 9

(4)  THEE, HolisH, FEEAHE S TEe giug, it

Options:

61547549613, 1
61547549814 2
1547549815 =2
61547549616, 4

Question Number : 130 Question Id : 61547512726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the correct chronological order of the following schoolars according to their death?
(1) Al-Kindi, Ibne Sina, Ibne Arabi, Ibne Khadun
(2) Ibne Sina, Ibne Arabi, Ibne Khadun, Al-Kindi
(3) Ibne Arabi, Ibne Khadun, Al-Kindi, Ibne-Sina
(4) Ibne Khadun, Ibne Sina, Ibne Arabi, Al-Kindi

Options:

61547549617, 1
61547549818 2
61547549619, 5
61547549620 4

Question Number : 130 Question Id : 61547512726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s L e

eIRgd g & 90 o ST9R 39 T8l FIeTdHa 731 8 7

(1)  =To-Tohedl, 31 5T, 359 37all, 357 Togd
(2) 3= HE, T ISl 3 Tegd, S -Thel
(3) T 3TN, 3™ Wogd, FA-ThAl, T AT

(4) T Toed, 3 H41, 35 oTEl, Sa-ThE

Options:
61547549617 1

E154754396158. 2
E1547549613. 3
B1547543620. 4

Question Number : 131 Question Id : 61547512727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the correct chronological order of the establishment of these Sikh Sacred places?

(1) Chheharta, Bauli, Kaulsar, Amritsar
(2) Amnritsar, Kaulsar, Bauli, Chheharta
(3) Bauli, Amritsar, Chheharta, Kaulsar
(4) Bauli, Chheharta, Amritsar, Kaulsar

Options:

61547549621, 1
E1547549822 2
61547549622, 5
61547549624 4

Question Number : 131 Question Id : 61547512727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt & 39 Ifom T 6 TITET 1 FE FIATRT T 8 7

(1)  B&edn, e, SieHt, STHaE

(2) SHTEL, T, TS, TEAl

(3) SIS, ST, BEAl, FIeH

(4) SIS, TEAl, AFAATL, FIewHT
Options:

E1547549621. 1
E1547549622. 2
615475436823, 3
61547543624, 4

Question Number : 132 Question 1d : 61547512728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Assertion (A) — Theology means ‘study of God’
Reason (R) — '"Theo' means 'God'.

In the light of the above statements Choose the correct option :

(1) Both (A) and (R) are true and (R) i1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

Options:

£1547549625. 1
61547549626, 2
61547549627, o
61547549628, 4

Question Number : 132 Question Id : 61547512728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



s 21 FuHT § 8 U A9FAT (Assertion) 3T a0 FR9 (Reason) 2l

FTFIT (A) - Torersit 1 91 e F 91 ¥ 59T B 2

F (R) - T4 (Theo) T AL THHT g4T 2

3T SHT FYAI o SATEIF | FEl [aehed TS H -

(1)
(2)
(3)
(4)

Options:

faFaT (A) 991 FR9 (R) T80 2 991 FroT (R) SA9eH (A) $1 981 =areTn 8
Al (A) 791 FE97 (R) F81 £ 991 Fn0 (R) tfoses (A) F 58 =aren 78 8
ATFLA (A) T 2, g FEO (R) T ©

HAMFHIA (A) a2, g 0 (R) HE 2

51547543625 1
61547543626, 2
E1547543627. 3
61547549625, 4

Question Number : 133 Question Id : 61547512729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) — Monotheism means 'there is only one God'.

Reason (R) — All the religions do not subscribe the theory of Monotheism

Choose the correct option :

(3)

(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) is true

E1547549629. 1
51547543630, 2
61547543631, 3



E1547549632. 4

Question Number : 133 Question Id : 61547512729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trafatad 51 FU91 5 | T A9FIT (Assertion) 3 THU FRY (Reason) 2l
ATTFEYT (A) - THTHAG F1 ATIE 2 7T TF 2

T (R) - &+ & Thvatarg o TR T8 |

(1)  @A9eFeA (A) 991 RO (R) 98 & a91 Fwrvn (R) Afgwam (A) 1 98 =amen 2

(2) #AYHYE (A) 21 ®Eer (R) 521 2 991 %R (R) AHSYT (A) 1 T2l =arean 781 8

(3) AFY (A) T8 2, =g FE (R) T 2

(4)  HfFFeE (A) o 2, =g Fr0 (R) 9E 2

Options:

61547549629, 1
61547549630 2
61547549631, =
61547549832 4

Question Number : 134 Question Id : 61547512730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) — The Vedic Religion 1s universal, external and all inclusive.

Reason (R) — The Philosophy of Vedas does not belong to any particular person, caste,

country and time span.

In the light of the above statements Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

£1547549633. 1
E1547549E834 2
61547549635 o
61547549636, 4

Question Number : 134 Question Id : 61547512730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TrAfafEd a1 F9A1 # | UF AMHUA (Assertion) 3T g97 F0T (Reason) 21

HATHFT (A) - ek 99 FEAHETHF, AEwaF va GEsHE 2

FOT (R) - 921 # forelt ==ftr, aol, <01 wa wr= faorg o1 fomaa 721 2

ST SHT YAl o STEIF H FEl e F FHE H -

(1)  AAfawy= (A) 91 Fror (R) T8 8 a91 e ((R) AfFaT (A) 1 98 =9 2

(2)  HAHEAE (A) 991 FROT (R) |8l € 997 9 (R) 3T9H2E (A) &1 Hel =91 981 @

(3)  HFYT (A) FE 7, =g O (R) T 2

(4) SRy (A) TeTT B, g F11 (R) HET 2

Options:

£1547549633. 1
E1547549E834 2
61547549635 o
61547549636, 4

Question Number : 135 Question Id : 61547512731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(Given below are two statements, one 1s labelled as Assertion (A) and the other i1s labelled as

Reason (R) :

Assertion (A) — Siddhasg in Jainism are known as Tirthankaras.

Reason (R) — It 1s becuase the Siddhas used to travel only to Tirthas (Pilgrim)

In the light of the above statements Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547549637, 1
61547549638, 2
61547549639 2
61547549540 4

Question Number : 135 Question 1d : 61547512731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=afefEs o1 o1 5 9 TF AAf9saT (Assertion) 31T 790 RO (Reason) 2
SATHFHYT (A) - S 99 H 95l ol digt FHer S 2

FRT (R) - =it g o9l ¥ & 98901 i 9|

(1)  @A9Fe (A) 991 Fror (R) 98 & 991 Fror ((R) 9w (A) F 78 =9 2

(2) ATFHIT (A) 9971 FEO7 (R) F21 & 91 R (R) 319H9T (A) I F81 =975 981 2

(3) AfRY= (A) T8 8, 7= Frw (R) 7o 2

(4)  AHRYE (A) Tod 2, g 0T (R) TE 2

Options:

61547549637, 1
61547549638, 2
61547549639 2
61547549540 4

Question Number : 136 Question Id : 61547512732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A) — Every text incorporated in the Tripitake is Buddha vacana (Buddha's words)
Reason (R) — Every idea enshrined in the texts of the Tripitaka 1s as per the teachings of

the Buddha and not outside or beyond His (Buddha's) teachings.

In the light of the above statements Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547549641, 1
61547549542 2
E1547549843 =2
61547549644, 4

Question Number : 136 Question Id : 61547512732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 71w TE T 2| e v sifyeras (A) & =0 ¥ fafea 2 ot gom nwr (R) & &0 § faf=sa 2

sAfirad (A) - T Ty N Biftes § wfEa 2 3 ‘gg a9 (35 F W) B

Fror (R) - U foam =i tifues oy 9 sfgfoa 2 9 g5 & e & sgem 2 i 53 foemst & ame
FYST FF AfdiE T 2|

T 53 T gE YA F TET 5 TE faeen T4

(1) A (A) 3 (R) T8 2 a1 #1097 (R) AMTHe (A) Fi 781 =T 2

(2) ZAT (A) 3T (R) T2 2 9 (R) SAfqsrym (A) =it 58 == 78 2

(3)  (A) TE g 9 (R) T4 B

(4) (A Toa g @A (R) 58T 2

Options:

61547549641, 1
61547549542 2
61547549543 2
E1547549544 4

Question Number : 137 Question Id : 61547512733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(Given below are the two statements, one 1s labelled as Assertion (A) and the other 1s labelled

as Reason (R) :

Assertion (A) — You should respect your father and mother.
Reason (R) — Jahovah through Moses gave this command
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options:
1547549045 1
61547549646 2

61547543647, 3
615475439645, 4

Question Number : 137 Question 1d : 61547512733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T ot Fem @ ™ | e uw afueem (A) F =0 3 fafea 2 o 530 wRe (R) & =9 3 fafeq 2
SAfTFLA (A) - ST 3109 JTT-TaT 1 37727 3T =R
FR (R) - TTEMTE 3 JE1 o 0T §9 A5 i {63

(1)  &H (A) 31 (R) @81 2 a1 w0 (R) A= (A) Fi1 98 =T 2

(2)  ZE (A) 3 (R) T8 2 991 FEOr (R) Haryq (A) 1 98 ==me 76 2

(3) (A) HEl & wf (R) Toid 8

(4) (A) Td B WA (R) 987 8



Options:

51547549645, 1
61547549846 2
E1547549847 2
61547549648, 4

Question Number : 138 Question Id : 61547512734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the two statements one 1s labelled as Assertion (A) and the other is

labelled as Reason (R):

Assertion (A) — All Christians should observe Sabbath

Reason (R) — God/Yahveh observed Sabbath (the Seventh day)

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

51547549649, 1
61547549850 2
1547549851 =2
61547549652, 4

Question Number : 138 Question Id : 61547512734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 3 wyE g ™ 2| e afaeem (A) F w9 fafed 2 o o Fme (R) & w9 ° fafea 2l

ATFYT (A) - T SHAETT FI FECT F I FAT TEC

FWO (R) - $7o7| F21d1 3 FaY (Fraar &) 1 7o |

(1) &M (A) 3T (R) 98 & a1 %001 (R) 31 (A) #i @81 =9 ¢

(2) =M (A) 3T (R) 981 2 991 For (R) stfaseq (A) 1 Tt = 6 2

(3) (A) =81 2 w59 (R) 719 2

(4) (A) TeE B @A (R) T8 B

Options:

£1547549649. 1
E1547549850 2
61547549651, 5
61547549652 4

Question Number : 139 Question Id : 61547512735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements, one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A) — Islam is a Monotheistic Religion.
Reason (R) — The Mushims worship many Gods.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:
61547549653 1

E1547549654. 2
51547543655, 3
51547543656, 4

Question Number : 139 Question 1d : 61547512735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 31 FoE ¥ T 3| UEen SAHFRYH (A) 99 g5 9% (R) F 9 7 iz 2

HAFIT (A) - TEAH THTIEEeAS 99 2l

% (R) - HH0HE %3 Saarell =l gamed #d 2l

'-‘H%_QF ﬁ]ﬁfﬁ e :Jj::la :

(1) (A) 3T (R) ST 921 & 997 T (R) 399 (A) i T8 =9E1 2

(2) (A) 3T (R) 341 &8 & a1 9 (R) SA9FIT (A) 1 T8l =TT 981 &

(3)  (A) 7 2 = (R) Toia 2

(4) (A) 7o 2 oA (R) &E1 2

Options:

61547549653, 1
61547549654 2
61547549655 2
61547549856 4

Question Number : 140 Question Id : 61547512736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are the two statements, one 1s labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) — Ek Onkar (Utimate Reality) in Sikhi is one

Reason (R) — Ek Onkar is incomparable

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547549657, 1
61547549658, 2
61547549659 2
61547549660 4

Question Number : 140 Question 1d : 61547512736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547549657. 1
E1547549858 2
61547549659, o
61547549660 4

Sub-Section Number : 2
Sub-Section 1d: 615475547
Question Shuffling Allowed : Yes

Question Id : 61547512737 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension



Read the passage carefully and answer the questions

In a letter written by the missionary R.H. Codrington and published by Max Muller in 1878,

the idea of Mana war referred to for the first time, and naturally in the style of those days,

as a “Melanesian name for the Infinite,” this description of course being due to Muller, while

Codrington himself gave, both in his letter and in his own book of 1891, a much more

characteristic definition : “It is a power or influence, not physical. and in a way supernatural;

but it shows itself 1n physical force, or in any kind of power or excellence which a man

possesses. This Mana 1s not fixed in anything, and can be conveyed in almost anything; but

spirits..., have it and can impart it.... All Melanesian religion consists, in fact, in getting this

Mana for one's self, or getting it used for one's benefit.

Sub questions

Question Number : 141 Question Id : 61547512738 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was R.H. Codrington?

(1) A Scholar (2) A Philosopher
(3) A Missionary (4) A Teacher
Options:

51547543661, 1
615475436862, 2
61547543663, 3
61547543664, 4

Question Number : 142 Question Id : 61547512739 Question Type: MCQ Option Shuffling : No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who published the letter related with Mana?

(1) R.H. Codrington (2) Melanesian Writer
(3) Mircia Eliade (4) Max Muller
Options:

E1547543665. 1
51547543666, 2
B1547543867. 3
61547543665, 4

Question Number : 143 Question 1d : 61547512740 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:Yes

:Yes

:Yes



What is Mana?

(1) An Energy (2) A Prophet
(3) A Power (4) A God
Op‘tions: ‘

51547543665, 1
61547543670, 2
61547543671, 3
61547549672, 4

Question Number : 144 Question Id : 61547512741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mana's influence 1s

(1) Psychological (2) Supernatural
(3) Physical (4) Organic
Options:

B1547543673. 1
61547543674, 2
61547543675, 3
61547543676, 4

Question Number : 145 Question Id : 61547512742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mana 1s related with the religion of

(1) Christian (2) African
(3) Taboo (4) Melanesian
Options:

E1547543677. 1
E1547543675. 2
E15475439673. 3
51547543680, 4

Question Id : 61547512737 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 61547512738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 6 e = -
AR.TH. Fllg=cd kA AT¢

(1)  TF TagH (2) TUF ZEINE
(3) U UH TETE (4) TUF TIEE
Options:

61547543661, 1
61547543662, 2
E15475436E3. 3
E1547549664. 4

Question Number : 142 Question Id : 61547512739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘w1’ | getaa o7 = foFEE veRrE e e

(1) STR.TH. FiE~eq (2) HEHEETE SGF
(3)  wEaT 3forETe (4) #o99 ToW
Options:

E1547549665. 1
61547543666, 2



E1547543667. 3
51547543668, 4

Question Number : 143 Question Id : 61547512740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘T oFE R

(1) &7 (2) TTFER

(3) IR (4) TI;
Options:

51547543669, 1
61547543670, 2
61547543671, 3
61547549672, 4

Question Number : 144 Question Id : 61547512741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 T U4E B

(1)  FAETIEE (2) SAAFF
(3) G (4) =TS
Options:

B1547543673. 1
61547543674, 2
61547543675, 3
61547543676, 4

Question Number : 145 Question Id : 61547512742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547549677, 1



E15475439675. 2
B1547543675. 3
51547543680, 4

Sub-Section Number: 3
Sub-Section 1d: 615475548
Question Shuffling Allowed : Yes

Question Id : 61547512743 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Read the following passage carefully and answer questions

A fundamental task of women’s studies scholarship has been to interrogate and overhaul the
pre suppositions, explanations, key principles, and accepted canons and methods that shape
the academic study of Religion. As has been indicated, women’s studies 1n religion arose
from the realization that the academic study of religion was an androcentric enterprise. A
central goal of Women’s Studies has therefore been to dismantle the epistemological and
methodological architecture of the discipline constructed from within the parameters of
androcentrism and to rebuild religious studies so as to incorporate into its framework critical
awareness of the role gender plays both in shaping religion and in shaping its study in order
to offer a fuller and truer account of the religious experiences of human kind.

Sub questions

Question Number : 146 Question Id : 61547512744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The fundamental aim of Women’s Studies is :

(1) To understand women biologically.

(2) To interrogate and overhaul the presuppositions, explanations key principles and
accepted canons and methods shape the academic study of Religion.

(3) To explain the study of religion with facts.
(4) To examine the women studies scholarship.
Options:

E1547543681. 1
E1547543682. 2
E1547543683. 3
61547543654, 4

Question Number : 147 Question 1d : 61547512745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the central goal of women's study?

(1) To understand the history of men

(2) To explain the problems of women

(3) To know the difficulties in women studies

(4) To dismantle the established 1dea of androcentrism
Options:

E15475439685. 1
51547543686, 2
515475436887, 3
61547543658, 4

Question Number : 148 Question Id : 61547512746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of religion 1s truer account of

(1) Women’'s experiences

(2) Men’'s experiences

(3) Wordly experiences

(4) Religious experiences of humankind
Options:

61547543659, 1
61547543630, 2
E15475436391. 3
E154754396352. 4

Question Number : 149 Question Id : 61547512747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What matters a lot in shaping religion and religious study?

(1) The role of men
(2) The role of women
(3) The role of gender

(4) The role of super human being

Options:

61547549693, 1
61547549894 2
61547549695, 5
61547549696, 4

Question Number : 150 Question Id : 61547512748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term “Androcentric” refers to

(1) God centric (2) Women centric
(3) Men centric (4) Priest centric
Options:

61547543637, 1
E1547543635. 2
E15475436395. 3
51547543700, 4

Question Id : 61547512743 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question 1d : 61547512744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

1547549681, 1
61547549682, 2
61547549682 o
61547549654, 4

Question Number : 147 Question Id : 61547512745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547549685, 1
61547549686, 2
61547549887 2
1547549888 4

Question Number : 148 Question Id : 61547512746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547549689, 1
61547549590 2
1547549891 2
61547549692, 4



Question Number : 149 Question Id : 61547512747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475496593 1

E154754396394. 2
E15475436355. 3
615475436356, 4

Question Number : 150 Question Id : 61547512748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TEaH5F (WEEUEF) T7 1 AW 2

st

(1) =33 higd (2) =
(3)  T®9 Higd (4) T Hiza

Options:

61547549697, 1
61547549698, 2
61547549599 2
61547549700, 4



